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Witli good ¥ on the vertical axis and peod X on the Tierizontal weds, which of
follpwing stalementz is FAL3ET

a.  [fthe indifference surve is steep, the marginal 1ate of substitution is higl.

b. A low marginal eate of substitution impligs 3 relatively {181 adilference curve,
¢ A relatively flat indifference curve implies il 4 consumer must receive a larpe

amount of good X to compenzsate for a sntall decrease in pood ¥,
d. A high rate of marginal substiwtion fmplies that a consomer st receive a large
amount of good X 1o coempensate for & smal] deerease in geod Y.

If a [irm's marginal producl of labor is less than ite average produst of labar, then an
inereazs in its v of labkar will

g Teduce ils tolal produet,

b eeduce its average pro<duct of labar.

€. Inerease its marginal produst of lebar.

d. ot elangs ils average praduct of labor.

If prive falls below the minimum peint on the AVC curve, ihe best i gompetitive fim
&an do iz

A keep producing and dake a boss cqual (o ils wrat variable cost.

b keep producing and take a loss equal to is rotal fived cost

¢.  shot down and take a loss equal to its (otal variohle oost,

d.  shul down and fake a toss squal 1o its total fxed cost,

Ler 3BAC stand for shocr-run awcrage cost. Whea a finm js MOT in long-run

- equilibrjum, its long-mem everape cost curve

3. tnilersects s SRAC curve af the SRAC curve®s minimam Pk,

b, intersecis its SRAC curve, but not 2t the SEAC curve's ntbiroum poind,
& 15 fangent toits SEAC curve 2t the SEAC curve's wipimum point,

¢ 15 tingent to s SEAC curve, but hot 24 the SFAC curve’s minitmm prHnt.
A price discriminating monepolist chatges lowsr prices (o custormets with

4. Jower quantities demanded.

b.  higher quantities deranded.

o lower elasticitics of demznd.

d. ligher lasiieities of demand

Cattipared to 3 competitive indosiry, & inenopsly transfers

. deadweight loss W consumers,

b, deadwrzight loss to producers.

g, producer surplus (6 conzumers.

. consumer surpluz o producers,
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7- InFEig 131, if the Grm s in eonopolistc cotnpetition, it will produce where it
dctmand curee
a  las zero clasticity,
b, lias elzsticily between 0 and 1.
€ Das wniteary clasdeity.
d. iz elastic.
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8. Inthe downiraost fiom Jneded of olipopoly, the elpsticity of the dominant fisn's demand
CUve:
i 15 less than the elasticity of the indvsiny demand curve.
b, eguals e elastoaly of the industry detmand curwe,
a. cxceeds the elasticity of the industry demand cucve.
d,  vades inversely with vhe poics,

2. Alagiven praduct price and quantity, the steeper the marginal reyvainus producl Cikoes,
a,  the mare elastic 1s the demand for the facior,
b, the moce inelastic is the demand for the factoc,
o e less mtengive s the factor uss.

_ d.  the wreater 15 the demand for [xed-cos factors.
10, A crovded totl toad is an exumpte of 2

& public good.
kb privare pood,
€ mixed gocdd.
d,  zervice,
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From Fable 4.2, net domeste product iz

a  51,920.

b, FIS4ih

¢ B2,150,

B A0

Tible 0.2

Corporate profits TR20H)

Mgl interest income 150

Indizect busingss taxes 2390
Depreciation 250
Compensation of smployess 1,350
Proprictors' incorme L350

Eeatal incomme 0
Prersonal eonsymption expenditurcs L, da0
Govemment cxpepdiinras 200
Fovernment trangfer payments 50

Mel exports M)

Full employment accurs whan

4, Structural wnctiploymant s zero,

k. evelical wnentplovenent is zoro,

. frictional vnemplayment is zero.

4. eyelical and frictional unsanployment ave zero,

Supposs it capitat por hour of work increases by 12 percent whils real GDE per houe
ol work inereases by 10 percent. What is éhe conwibilion to the inereass in real GTIP
por houy of work from changing technolopy?

2. Itincteased real GOF per hour of work by 12 petcent,
boo [ inereased real GOP per hour of work by [0 percent.
g [t increased reat GOP per howr of work by 6 percanr.

d.  Ilincrsased roal GDF per hour of work by 3.33 percent,
If there are no txes of impode and the MPC 3= the marginal prepensity i0 conzume,
the muliiphict iz

B LMPC . T,

B MPCAHL - MPCY,

& 141 - MiPC).

4. MPCAMPES - 1),

In 1he shart ren, an increase in the maney supply réal GEOP and the price
level, T

i, incroages toises

b.  docs nat change; loveys

&, docreases; raises

d.  deecrcasce; [owers

Which of the following does NO'T earse 3 demand-pull inflaton?
A.  Increqases in povernmiend purchases.

b, Inercases in et éxports.

¢, Ihcreuses in oil prices.

d.  Incremses in the monsy sopply,

{# % 34 A0 B3 45 20)
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[7. 1n Figure 15,1, the econguy is initially at poind = and wvestment declings, by
Keynesian business eyele theory, the econoney will move 1o point
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18, Relerto Fig. 15,1, With free trade batveen the United States and Tapan in autemobiles,
each vear

A, the United States will export 4 million auos to Japan,
b Japan will export 4 maillion autos 19 the United States,
¢ the United Seates will expore 5 mitlion autos to Japay,
tl. Japan will expoct 5 million attos 1o the odicd Statzs,

Figure fE.6 Japangse exoort sy (vt tef)
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1. therc are two fimms & and B inihe market.  Inthe followdng Figurs 3.0 shovrs the
market dematd function (0, the industry average cost and marginal <oz curves,

fa) What is the cquidibriom warket price and individual profic when they collude?

{y If one fikm cheats om e aprezment, lowering its price, bat the oflier fion does oo,
it will get 73% of the businesz and carn profite of 8 million and ihe ather o will
lose 52 million.  If both Grms cheat, they will end op with $2 million each in
profits.  Which stratcey menimizes the maximum potential Joss for AT Explain.

(e What iz the moet likely cutcome of snch a game?  Explain, (£ R & =5

1+

10

2. A ctrowt farmer and a peelicide maker are located next to cach ather on the side of a
like. The pesticide maker can disposc of waste by dumnping it inte the lake oc by
irucking it 1o & safe tand storage place,  The mirginal cost of wucking is & constant
31003 won,  The reott facmec’s profil depends on how muck waste the pasticode
nraker dwmps oo the Jake and is as fallaws:

quantity of wasie (tons pet weeR)  Trow Larmec's profil (dollars per week)
1006
250
75
T3
a0
209
3i5
125
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2] what is the fficient amovnt of waste to be dournped tnla the Loke?

(b} ¥ g gwns the lake and that the povernment introdoees a poflulion tax.  Whae
i5 the 1ax per o of wagte durmped?

(el M noone owns $he Lake :id thal the goevernment isswes mackerable poliution
perinlis to borh (b2 Pacmer and the fagiory.  Each mdy duenp the same attiownt of
wasle in the loke.  What is the market price of a permic® (& 88 5= %)




